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1. Answer any fifteen questions under Part-A. ALl questions carry
equal marks.(15X2=30)

2. Answer all questions, choosing any two sub-divisions from each
question  under Part-B. ALl questions carry equal
marks.(5X14=70)(7+7)

PART- A

Find the values of x if |x 3| = 0.

3 x

Prove that [1 3]is a singular matrix.
2 6
_ 19 10 B 5
If A= [13 20] and B = [J 9], find 24 + B.

Find the value of x if |2 3| = 0.
4 x
Convert 240° to equivalent radians value.

Write any two characteristics of the function y = e*.
Find the value of sin 75°.

Find the value of cos? 15° — sin% 15°.

If 04 = 71 — 2 + 10k and OF = 111+ 7) — 3k, find |4B].
Find the direction cosines of 5i — 3} + 4k.

Show that the vectors i—3j+5k and 2i+6j+4k are mutually
perpendicular.

Find the values of ..j and 7 x j.
Find the arithmetic mean of 10, 12, 14, 16 and 18.

The mean of seven numbers is 81. If one number is discarded, the
mean of the remaining numbers is 78. Find the discarded number.

Find the variance of 1, 2, 3, 4 and 5.
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Write the normal equations to fit the straight line y = ax + b.

A die is rolled one time. Find the probability of getting an even
e

number.
If P(4) = 0.25 and P(B) = 0.75, find P(A) and P(B).

If P(A) = 0.15, P(B) = 0.25 and P(AnB) = 0.10, find the value of
P(AU B).

If P(A) = _;. P(B) = -j- and P(ANB) = % _find P(A/B) and P(B/A).

PART- B

1 0 3 1 0 2
(@) Verify (AB)T =BTATif A= l 1 —1] andB=[0 1 2].
1 -1 1 1 2 0

(b) Solve the system of equations using Cramer’s rule.
3x+y—z=2,2x—-y+2z=6,2x+y—2z2=—2

1 1 -1
()  Find the inverse of [ 2 1 0 ]
-1 2 3

(a) Sketch the graph of y = sinx in the interval [0, 2r] and write any
five of its characteristics.

(b) If A+ B = 45°, prove that (1+tand) (1+tanB) = 2. Hence,
deduce the value of tan 22—

in A+sin 2A
Prov LU L
(c) ove that 1+cos A+cos 24 tan 4.

(@) Show that the points with position vectors 5i + 6] + 7k, 6i +7) +
5k and 7 + 5] + 6k form an equilateral triangle.

(b) Find the angle between the vectors 3i — 2j + 5k and 2i+j+ 2K
using scalar product.

(9 Find the unit vector " perpendicular to each of the vectors 3 +

3j +k and e 51 + 3k.
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Find the arithmetic mean of the following data.

Class

0-10 - - - - - _
Interval 10-20 20-30 | 30-40 40-50 50-60 60-70
Frequency 3 5 16 18 12 7 4

Calculate the standard deviation for the following data
ltems 5 15 | 25 | 35
Frequency 2 1 1 3

By the method of least squares, fit a straight line to the
following data.

X 5 10 15 20 |25
y 16 |19 23 26 |30

A coin is tossed three times. Find the probability for getting
(i) atleast two heads
(ii) exactly two heads
(iii) atmost two heads

In a school of 320 students, 85 students are in the cultural
team, 200 students are in sports team and 60 students
participate in both activities. A student is selected at random.
Find the probability for the selected student participates either
in cultural or in sports.

The problem in statistics is given to two students A and B. The
probability of A solves the problem is -;— and that of B solves the

problem is -;— If the students solve the problems independently,
find the probability that the problem is solved.
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